1
sigm = Sgrt [5 (-6+71'2)]

(—6 +7T2>

wW| -

g[Xx_] := UnitStep[Pi - x] UnitStep[Pi + x] (1 + Cos[x]) / (2Pi)
h[x_] := sigmag[sigm x]

ti medomai nplot = Plot [h[x], {X, -5, 5}, PlotStyle - {Thickness [0.005]}]

FourierTransform[h[x], x, t]

(-6+72)*2sin]n [ 25 t]

V6 732t (-6+7%-312)

(-6+72)**sin[x \/7

V6 71'3/2t(6+7r -3t2

ht[t_] :=

freqdomai npl ot =
Pl ot [ht [t], {t, -5, 5}, PlotStyle » {Orange, Thickness[0.005], Dashing[0.01]}]

0.4

0.3

0.2

0.1




2 | fourier2.nb

Show[t i medonmai npl ot ,

freqgdomai npl ot , Pl ot Range -» {-0.02, 0.42}]
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